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1. Find out the incorrectly matched pair.

(Non metals) (Colour)
A)Sulphur - Yellow
B) Phosphorous - White and Red

D) Carbon - Black

sepns QuuapbSlujerer Eemaoiend &6 _MHle:

(a{@mn&slﬁl&sﬁ) (g_ﬁlg)Lb)

A)as;i)g,asl.b =10 (Gh & 6T

B) uneloUT6eL -Gleysremer wHmD A&y
C) uGmewwer  -earpm

D) SITJU 60T -&UY

2. Which of the following is a Complex fertilizer?
A)Urea B) Ammonium phosphate
C) Ammonium Sulphate D) Ammonium Nitrate
Slebrai et HpIer o1g HeoUY 2 Jib HEH?

Ayl B) wibGuneflup ureioGur

C) obCwrefluh FeoGur D) S1Gureflun embl G

3. Which of the following is a triatomic molecule?
A)Argon B) Hydrogen
C) Carbon dioxide D) Glucose
SpbHTL_IDDIGT 6151 CPOISD) CPode.m?
A) sy isncor B) ewamt ngyeir

C) suiuds -t -apbma D) wepéGandd

4. Consider the following.
Assertion (A): Corrosion is natural process which converts a metal into its metal

oxide
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Reason (R): it is gradual destruction of metals by chemical or electro chemical
reaction with the environment codes

Codes:

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true and (R) is not the correct explanation of (A)

C) (A) is true but (R) is false

D) (A) is false but (R) is true

Sleteupd sahpiser Seciléoa.

sapm (A): 2 Goons siflonend Gupens Hape @b, Gled 2 Gonsvrag 2 Goons
@ BemevLIE LIS DS

smeod (R): Cousl eflencosmer sicooog et Couflaflemenaar cpeold &bHIE@EpCeonH
Meveuflbs ugiuuns 2 Corssmes fossSloma.

e sar

A) (A) wipid (R) @reiw@id o wippiis (R) erirugs (A)sisir sflunen eflsrbmwoneb.
B) (A) vpgi (R) grem@n fl opeme (R) eroug (A) uller sflwncor eflendmiweoeo.
Q) (A) o8t apemed (R) pouy

D) (A) seuy snemed (R) &l

Find out the chemicals used to induced mutation in crop

A)Mustard gas B) Nitrous acid

C) Hal D) Both A and B

#HS wIHPSLsS Frou@pld CaSHublunrgpemers CsibblsMH.

A)s@e omy B) copi e sndleo>

€) Hal D) A i B @reso@iv

Find out the salt of strong acid and weak base?

auclemw BlGHs bleod LHYD allon GEDHS &1 2 Uomus Coinhlsh ?

A)NaCN B) Naz2SOa

€) NHNOs D) KNO

Find out the acid present in Apple.
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A)Acetic acid B) oxalic acid

C) Citric acid D) Malic acid

pUllafled 2 _drer oibleosems CoHIHGISEH.

A)e}&ll'_m_és <qbleotd B) Spéoonedls obleoid

C) A flé ondlovd D) wrelis rblanis

8. In which of the following titration, phenolphthalein is used as an indicator?
A)Strong acid against Strong base
B) Strong acid against weak base
C) Weak acid against strong base
D) Both A and C
Spsscoi_cuppier ohss HrbuMSsesleo Glemetigeder HpBIsM Igwnsl UweUHEDE?
A)m}e&a»ml.ﬁ]@ Sibleosms aueSlemwdl@ SHMISHGIL GBI SIDUNTEHSH60
B) aueSlomwifl@ oifloosens cuellenin@emp SISSIL 6T SIDUMSHSe

C) aIeSlem @D SblevGems aIeSlenwidl @ GIISHSHIL 6T HIDUNTSHE 60

9. Find out the correctly matched pair.

(Element) (Ore)
A)Calcum - Cryolite
B) Aluminium 2 Goethite
C) Copper - Pyrolusite
D) Iron - Limonite

sfluns QunbSlujerer Eemewoenwids &6 _Hls:

(g,asﬂmtb) (g,ng,])
Asrodlud - SlowrGursmer
B) s1epdleoflwib - HCwneng_

C) SMUUF - UG &L
D) Sy - 6SlGwmemcor

10. Which of the following group is also as ore forming family?
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A)Group - 13 B) Group - 14

C) Group - 15 D) Group - 16

Spbsa_ obss QBTG SIEEEMmT 2 HAISED GHBUD aEPSSIUGRSDE?
A)Gsies - 13 B) Qores - 14

C) Qsnesl - 15 D) Gsres - 16

Find out the incorrectly matched pair.

Mixtures Examples

A)Solid in solid - Stainless steel

B) Liquid in liquid - Mercury with sodium

C) Solid in liquid - Sodium chloride dissolved in water
D) Liquid in gas - Water vapour in air

seupns QuiaphSlujerer E)emeoeniis &Hesor_Hle:

8606 62 & 61 IH S GIHHI_([H

A)@mgﬁm Slasorod - 5IGUCL66I5 615@

C) Brwgsleo Slesonoid - Bfleo sowysatul L Cemqwb GGCemengl Homysco
D) aumyefileo Biotd - smbhdleo 2 crer Brmel

Match List | and List Il.

List-1 List-1I
(Solutions) (pH value)
A)Vinegar - 1. 45

B) Sour milk - 2.7

C) Baking Soda 3.3
D) Egg white - 4. 9
E) Pure water - 5 8

uligwed | & uigwed Il 2 L 6or Quumsgis.

uiqwed | utiqwed I
(sowpaevaar) (pHw&uy)
A)cficflesi -1.45
B) ueflss une -2 7
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C) sovwwe> Gam_n -3. 3
D) wi e Qadremerssm -4. 9
E) smu 85 -5 8
Codes:

abcde

A) 41352
B) 31452
C) 43512
D) 34512

Find out the compound used to flux material to remove its impurities from ore?

sugisscfleo @mbg wrassmer BasGL Cunigs GorsSunsl uwsu@b Csinsomss

Coimtls®?
A)CaCl, B) H,S04
C) CaO D) CaSO4

When steam is passed over red hot iron which of the following product is formed?

Qeer@ELnhoiul L Guwbbleo Brmefleow Cemissd Qurigs Spsscon_ ebs oflever Qumper

2 manSlng?
A)FeSO4 + H: B) Fe2S + H2
C) FesOs + H; D) Fe2(SOa4)s

Match List | and List Il

List-I List-lI

(Alloys) (Uses)

A)Nickel steel - 1. Statues and coins

B) Magnalium - 2. Aircraft parts and Propeller

C) Bronze - 3. Electrical fittings and decorative items
D) Brass - 4. Scientific intrument

ut g weo | e ULlliqWw6d Il 2 1 er Qunapssis.

uliqweo | uliqweo |l
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(aseoo‘o)s).uﬁlén Gzlas)asasérr) (&g,rr[rmréwsérr)

A)flsaseo ors@ - 1. Acvoomer DHEWID [HICEOTLIIE 6T
B) QuéemoSwb - 2. oflwrer 2 S0 UNEEIGET DHDID 2_BhElser
C) Qeuciorsootd - 3. Weir Geweomiy QuiperssT wHYID DieorIBTIT QUIpeTs 6T
D) Siszcmer - 4. siflefwed 2 USTEHIEIS 6T
Codes:
abcd
A) 2413
B) 4321
C) 2341
D) 4231
Which of the following ore is purified by the Froth Floatation process?
A)Oxide ore B) Halide ore
C) Carbonate ore D) Sulphide ore

Spssco_ absHS HIH Hiowy BsUY Wpemmuiled s LIURSSTURSDE ?

A)a;;asa»m)@ SIGI B) Camemeo(®) Hus

C) smuGen” sng D) zeoemu® sz

Select the second most abundant element in all the living things?
A)Nitrogen B) Oxygen

C) Carbon D) Sulphur

Smesg 2 ulflomsafleyd @ mb uGSlune soflinsmss Coia Gleis.
A)g;l'_l;rga'n B) <=3,6 6r81 g 66t

C) SITUGOT D) F0SUT

Consider the following statements.

l. Silver bromide is a brown colour

Il. Silver bromide decomposed in the presence of sunlight to give grey colour. Silver
and reddish-brown brominegas.

lll. Silver chloride is a Yellow-green colour.
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IV. Siver chloride decomposed in the presence of sunlight to give grey colour silver
and yellow green chlorine.

Which of the statements given above is/are incorrect?

A)l and Il only B) I and Il only

C) AUl of the above D) None of the above

Glesraupb FaHmIsbsemor &ocilessal.

I. Aeveni yGrmEdLE UMDY BPb Qsrao_g.

Il. Asveui yCrrew@H @AW ofl Warcflemeuiles AsmsabHm Fmbucd Hlp Heoeuemyuyb WHHID
Qsbuiy Hp yCrmbleweryh &w;BS DI

lll. Asveui GComedr{H UKD Gohs WEHEFET HDD

IV. Ssoaui @Cameor@) @flu gofl orefleneouileo Asmsabm Fmbucd Hn HAeoearenmuyb wHLHb
UL Boobhs EET Hip GComflmemb 5®BSD.

Cuihsen_ sabmsefled Hsaipneig og?eremen?

A)l and Il only B) I and Il only

C) ALl of the above D) None of the above

Consider the following statements.

Assertion (A): Objects such as car parts and wheel rims are coated with Chromium
Reason (R): Chromium resists scratches and it is an inexpensive metal

Codes:

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true and (R) is not the correct explanation of (A)

C) (A) is true but (R) is false

D) (A) is false but (R) is true

Slesraupb Fabmismer &eueiléssal.

samol (A): anscmisefler 2 Sifl ursBiser LHDHID FésrBisT 85 GGIMOlUD CoHydFe
yFIUHEDSI.

SIJEOILD (R): GCImblwib Sreoscmer aHjsSms LHOID G5 @@ weSleurer 2 GeonswnIGD.

GO ser:
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A) (A) wH DD (R) Seoplib &l whHmnib (R) SIOTUGI (A)USIGOT gflwneor eflerH&w0LIED.
B) (A) woHoIb (R) Sreorpib &ifl o, commeo (R) STGOTUS] (A) wSleor sflwnesr 6flens s cooo.
) (A) ot spems> (R) porgy

D) (A) SAUMI DL, COMIO (R) &1l.

Find out the incorrectly matched pair.

(Acid and Basic Nature) (Neutralising compound)
A)Stomach fluid or Gastric juice - Milk of magnesia

B) Formic acid - Moist NaHCO3

C) Factory waste - Acetic acid

D) Basic soil - Vermi compost

seipns GlurgphbSlujerer @eneoienid &esor_Hlea:

(auSleo WO MID asnuﬁ,g;sina»m) (g_r,@@cmeo&u@g_’r,glb asoosmm)
A)@Gmmja»u B - QusefAwn umeodd

B) Suniidlé ofbleobd - mrbsons NaHCO3

D) &I H60HS LD GHoT - ma'mrqqg 2 b

Consider the following statements.

l. The formation of a compound is associated with absorption of heat only.
Il. The properties of a compound are same from those of its component element.
lll. The components of the compound can be separated by simple physical methods.

Which of the statements given above is/are correct?

Sletreupd Fahmibascmer &ealcilssoyb.

. @ Caiwbd 2 @ear@bGurg Certub 2 HlgGase wI G Hlapsldms.

ll. GeisSletr ustyamer, SiBoT UGHU CQunapersefler udmysGornh &g Curdleips.
lll. @ CriwsgHleo = dror UGS CunEersemer Guplue empiuly Giflés apigub.
Cuhasn_ sapmsafler sfluncrg og?eromen?

A)l and Il only B) I and Il only

C) Al of the above D) None of the above

9 | IYACHAMY ACADEMY — CHENNAI -TIRUNELVELI-TENKASI-WWW.IYACHAMY.COM




21.

22,

23.

24.

IYACHAMY ACADEMY
?) (Associated with www.iyachamy.com)
Istitution For Competitive Exam)

Find the element highly present in coal formed in swamp covered by sea water

region.
A)Oxygen B) Sulphur
C) Nitrogen D) Both B and C

sLoB) u@GSluned @GrUul L &5UY Bleosslo 2 @peurer Heosasflulieo @iflsb 2 erer Haflibsoms

&eoor_Hlweb.
A) iz B
C) G IH1L_[Jep 65T D) B O mID C SLEW @resor(phlid

Find out the liquid state metal in room temperature.

A)Cesium and Galium B) Rubidium and Francium

C) Iridium and Osmium D) Both A and B

@ieon Qenublaenile Sra Heveouleidrer 2 CoonmsSHlenerd &eom Hla.
A)EAwid wHmid sreSub B) @fliqwi whod SyrerSlub

C) Gwmubd whpo> aedlud D) A wippis B syl @rainGis

Find out the incorrectly matched pair.

(Compound) (Common Name)
A)Copper Sulphate - Blue vitriol

B) Potassium Nitrate - Indian Salt Petre

C) Potassium Chloride - Muriate of potash

seupns QuraphSlujerer @)6neuoen s &etor_Hle:

(Geiwn) (Qurgi@uws)

A)eslrilufr FoouL_ - wifleo HHHWD

B) Qum’ L rflwi evpr Gor - @pHw smeor L

C) Qum'Lnflwd @Gomens(H - AW et Qum’_L_mei

Which of the following colour change occurs, while iron nail is placed in a solution

of copper sulphate?
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B) Green colour to blue colour

C) Blue colour to Red colour

D) Blue colour to yellow colour

20 Buby gaitlmer sniuf soGul samysadles smars@bEUNIRs &b _maiseflco

o1hs HlopwrhHoid @asq.gl.b?

B) uéens Hpb Beo Hpwrs LMD

C) Beo Bl Aewiy Hlowrs wIHD

D) Boo Bl wEpFar Hpons gD

25. Match List | and List Il.

List-1

(Element)

A)lLead

B) Sulphur

C) Hydrogen

D) Phosphorous

E) Boron

U gwes | g urgwe Il

u_iquweo |

(peofiwiser)

A)snfun

B) spssn’

vweuHEDg

C) oot ygyeir

D) Gumymeir

E) Gunymebr

Codes:
abcde

List-lI
(Uses)
1. Rat poison
. Flame used for cutting and welding purpose

.. X-ray machines

2
3
4. Fuel for ignition in rocket
- 5. Gun powder
2.1oot QUIESEIs.

uqweo 1

(vwebrun@eser)

- 1. o8l e

- 2. 2 GoonsHisemer 2 [HES Qe L_ajb @l _Lojib

- 3. X-&8l5 embSlymiser
- 4, yrsQs1 enflQunaser

- 5. gouns &S grer
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A) 51423
B) 35412
C) 52431

26. Match List | and List Il.

List-I List-ll
(Latin Name) (Symbol)

A)Stibium - 1. W
B) Stannum - 2. Cu
C) Argentum - 3. Sb
D) Cupurum - 4. Sn
E) Wolfram - 5. Ag

uligwed | e uiligwed Il 2 1 6or Quumsgis.

uriqwed | uiqwed I
(w50 Quwi) (e056)
A)sivrg S’ -1LW
B) 6vGr_comb -2.Cu
C) =1iQgeon_tb -3.5b
D) sum - 4. Sn
E) = cosiin - 5. Ag
Codes:

abcde
E) 43521
F) 34521
G) 25341
H) 53241

27. Arrange the following element according to the atomic number.
.Sodium

Il. Aluminium
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lll. Neon

IV. Gallium

V. Barium
@iy orsosemer Qarah Gleruab Heflbhismer aflersiu@ssab.
l.G&mq b

. sigleflun
lll. Hlwmesr

IV. sreSwib

V. Guflwb
Codes:

A) I, L, 1, 1V, V
B) I, I, L, IV, V
amuiv,Vv
D) I, I, 1, 1v, V

Who proposed the law of Definite proportions?

A) Lavoisier B) Joseph Louis Proust

C) Gay Lussac D) George John Stone Stoney
wIpr AEs &0 S W eIENUYISBUULL 52

A) oComifwi B) CGgnstr gomiSley GunGpmeior_

C) Cs gprens D) eomjep spmedr 6ivGL_iresr el GL_reofl

Who started that ‘The total mass of the products is equal to the total mass of
reactants?

A) Joseph Proust B) Lavoisier

C) Gay Lussac D) John Dolten

'@ Carlafloner HlawbGung 2 pang afleareilenerGlungdrsefler Qwngs Hleopuwncg:
e eruGuraefler Qonss Heons@s swb” eeim Fodlwen wmy?

A) Ggneis aiQparai B) soGamiéui

C) Cs gpens D) SDIT6OT L_IT6DL_60T
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30. Which of the following type of coal is obtained from sphagnum?

A) Lignite B) Peat
C) Bituminus D) Anthracite

Slesra(peustreubdmieT o1hs Hlovs sl evCusesSlellmhe QupiumEDg?

A) 6518 6m 601 -

C) S @ibleorenv D) wbsremer

31. Which of the following acid that undergoes oxidation causes bad odour in Fishes

and Meat?
A)Polyunsaturated fatty acids B) Butyric acid
C) Benzoic acid D) Cinnamic acid

Spsscor_eupmier pbedleGorhn eflen s @l uplousne Geonssl wHmib B ersefleo
IiBIHDS Sl gHuBSHID Sibleod o1g?

)i paiE OEGHHSBREEE B) Gy s sl

C) QuenGemils wiblood D) Aceonblés subleotd

32. Find out the double Salt.

A)Patassiurm Aluminium Sulphate  B) Potassium hydroxide

C) Ammonium Hydroxide D) Sodium bisulphate

SriooL 2 (1Slencors & 6sor_Hlé.

A)oum nfwib sxgnfiafiud oGuC B) Gum rflutb sogmt b

C) SIbCwreilun ement rmdemen () D) Cemqwid cvuFOHUL

33. Which of the following is used as a insecticides?

A)Potassium Nitrate B) Sodium Carbonate

C) Copper Sulphate D) Calcium Lactate
Bpsscon_cuppier Ysfsbsroeuns LwaURSSIug o157
A)Qum'_l_mﬂu_nb B B) Cemqwidb smjuCeom

€) mmiui dGuc D) sneslurs conéGe i

34. Oxygen, hydrogen and sulphur are examples of which of the following?
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A)Metals B) Non-metals

C) Metalloids D) Inert gases

<1,68g60T, cOQDL Jger WLHDHID Feouf SBHlwene SpsaHaILaubhdled aI5HE 2 HIyesnd?

A)e Goonsis B) iGamnmi>

C) 2 _GeonsUGunedser D) HE 6N EE6T

35. Dissolution of glucose is an Example of?
a) an exothermic change b) an irreversible change
b) an undesirable change d) an endothermic change
& ©Eb&CamneoBfleos e ragicreiaicnsGaiiueslenet
a )Qartiue_lpeflene b) Bemmeflencor

C) A @BbUSSHISHIDH MDD d) Qentius Gl s meres 6m cor

36. Motor vehicles emit 70% of which poisonous gas

A) Carbon dioxide  B) Carbon Monoxide C) Nitrous Oxide D) None of these
G LT ansaid Qaafilpd,70 FSAsD pFFaITL a81?
A s . oy B) it Gunemims s

C) pLyad SbhdHed b D) ggiiflsdaneo

37. Which of the following statements are correct?
1. Glass is obtained from chemical substances like sand, limestone, and sodium carbonte
2. Cement is a mixture of clay, limestone, and gypsum

3. The only material which can be recycled to 100% is glass

A) 1 only B) 2,3 only C) 1,2 only D) AUl of these

Spdsavi_appdr Fflumer el ag?
1. SOOI LDaOTed, SemiaunmibbeHe, CFmuubd STUCa. bhdu Caddsmmal
2. SCweami’ aSILIG ST |GHH0, Salnaw, BUigFh Hbhduma CFJhs Cadldhsamal

3. sewiemmy WCbGW 100% wpidphHd) QEiminphd GQUITEHET

A) 1 p1b B) 2,3 1oL p1b C) 1,2 ot plb D) Dl i
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38. Consider the following statement
I Carbon dioxide Il. Oxides of Nitrogen lll. Oxides of Sulphur
Which of the above emissions from coal combustation at thermal power plants
a) Tonly b) 2and3 ¢)1and3 d) 1,23
B1pé BN s6.HDISEDET @IS
l.amjuer oL opEemon@  91) OB IRT GpHmovE  B1) FOUF oL HEe
CuBe GBI UUL @eterer a0 ler  Hloveowmisefles  Heossfloow  emfla@nd  Cuisy
Qeveflufl_i1u@ S e cor.

a) 1 &Ml b) 2 wpmyn 3 c) 1 vogd 3 d) 1,2,3

39. Which of the following are examples of alkalis?
l. Sodium Hydroxide Il. Calcium Hydroxide lll. Potassium Hydroxide
A) LI B) ILIN C) ALl of these D) None of these

Spdsaii_appdl J0ETOESS abSISETLG a5I?
I.8gmuyund emanl Jrdangd |1.&Todubd eap’ Jréads  IN.OuTiLrfud @anl mdad b

A) LI B) 11,11 C) Slamaidgid D) ggitfladeneo

40. Which of the following statements are correct?
1. The word alkali is derived from the Arabic word “Alquili” Which means plant Ashes.
2. All Alkalis are bases, all bases are alkalis
3. Ashes of plants are composed of mainly sodium and potassium carbonates
A) 3 only B) 2,3 C) 1,23 D) 1,3
Spdsaii_appdr J0aTOEES dbSSISET b agI?
1.8gmyund emanl Jrdangd I1.&Todubd ean’ grdadsy  HL.OuTCLTud @anl nmhad b

A) LI B) 11,111 C) Slanadgid D) g&ifledenso

41. Which of the following statements are correct?
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1. Phenolic compounds are responsible for the bright colours aroma and flavor of many
fruits and vegetables

2. It reduces the risk to heart disease and cancer

3. Pheolic compound and oxygen react to form a brown pigment known as melanin

A) 2,3 only B) 1,2 only C)1,23 D) None of these

Spdsasi_appdr g Fumar de?

1.5 aap anmjsms ATmis Camdphd AbSSTED. D@ GQUITHET LDTFFTIDLID
2. 66060M NOHOFSHABID STTHIHATGID .  6T0MD STTHISABID Ne0HaSHHaT
3.yFFmbuedd GFmyuid whptd QUTCLrlusdear STTLUCH. HhEaT AHHHLD

A) 310 plb B)23 C)123 D) 1,3

42. The conversion of sugar solution into alcohol and liberation of carbon dioxide is known
as?
a) Fermentation b) oxidation ¢) Reduction d) None of the above
FEIHEHD] HOJFD BSOS DIHDHDLbHS sIjumL.  spbmeveol. GevaflllGlb Hlepe)
cTeueuIYl SI®WESIUGS DS

a) QB S 860 b) 8 eflgGerHmd c) RHSHD d) CuhHaer_ crgiaybleoemeo

43. Which bacteria involved in Fixation of Ammonia
a) Nitrobacter Nitrosommonas_ b) Bacillus ramosus c)/Azatobactor d) Rhizobium
@ibCoreflunser Hloveo BEbgb Undteflur org?
a) cpl CmGusLi ewpr GrmaGwnersn b) GuAicers momsivaser

C) o151 CLnCusL_i d) AC&EmSlwbd

44. Alginic acid is obtained from ?
a) Rhizobium b) brown algae c) Chlamydomonas d) None of the above
s1eogheofles obleod e1dleS@pHa GupuuRSDE

a) G Emilwib b) u@Uyy unsl C) &lommdl G L@ meororv d) CuhHaEekL c1gI6]bledemeo
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45. What is the Percentage of Nitrogen in the Air
snbBleo 2 _eer cobL_repeflesr Diemey creuaiemey?

a) 78I% b) 20.9% )0.03%  d)1%

46. Commercial name of Bioblastic
a) Alcaligens b) Alkali c) Plastic d) None of the above
2 191l Qlemmevig &Hleor euelasUGUW orcoreor?

a) _ b) 1605 T65] c) Uenmeivlg & d)@mrj)asaisn_ 6181 6] 1] 60 6 60

47. Consider the Following facts related to Law of Conservation of Mass and choose the

best?

b) Mass can neither be created nor destroyed during a physical change

c) Mass can neither be created nor destroyed during a chemical change

d) None of the above

@doeo @iflefleremn Myl cr Spsscn_ emsSlunisaer QuUIGSSUTISHS Fflwmeor
sflei_cow CoibO5E

2) Beopen Guiiiu wHpib Cauflud wHpsd Curg eybaCan eiflsaCan i
b) Pepeow Guibtue wiHpsHer Cung SLssCon SiflésCar apigung

¢) Bevpeow CearSlwed wrppsSlen Cung bsCam SNssCam g g

d) GuhHasemi ergiea]dleoemeo

48. Who demonstrated through his experiments that electricity is composed of particles

called ‘atoms of electricity'?

a) George Johnstone Stoney b) Michael Faraday

¢) William Crookes d) J.J. Thomson

HoOTEIemL_mw CErgemenllesr epeod WBlesEnyb ereorugl Wleor S HEHOINED 6T GTEOINI
gaHlweyy.

a) emisy epmedreivL_cor G Ll eorm _

c) afleveSlwd @& e d) Cg.Cgy &b 6ro 6ot
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49. Crooke’s Rays also known as
a) Cathode'lRays b) invisible rays c) blue rays  d) Infra Red Waves
G @Hedler sSliser sreueunm SIHIWTUEH &l6orm cor

a) Cs56sn1[H b) & OIS @ Yoo ooss &SJe6r c) sersT HSHljser d ) Si658atys &S er

50. Who discovred the electrons and isotopes ?
a) JWiThomson b) William Crookes
¢) Goldstein d) George Johnstone Stoney
sTovs1_TebE 6T HDIh CrIGLMicus Hem_Hlhseiiser
a) Gx.Qlgy smbeein b) Mool @apsen

C) @a&mev(HlelmLe 66T d) emigy epmedreivL_cor oG L eorm

51. Consider the Following statement regarding coal a
. Peat is the first stage of coal. It is the most inferior variety of coal which contains
10-15% of carbon
Il. Lignite is brown in colour. It contains 25-35% of carbon.
lll.  Bituminous coal. It is also called soft coal. It contains 45-86% of carbon
IV.  Anthracite coal It is also called hard coal. It contains 100 % carbon.

Choose the correct code given below

a) BIGIViareiCorrect b) Il only Correct  c) LILIIl are correct d) LILILIV are correct
BeossfCur@ Csm jymLw smppison oabg sfluner el owu CaibolshH
a) 8t etz oo Hewe Heossfl G 10 % apsed 15 % aewy srjudr sremUESD.
b) oSlsem_eor uRly HlmsSled snewmiublin, Sleo 25 S wng 35 % ss6fsb smus sreETIURS DS
¢) S @leed @z Quertemwwnsd Hossd cmemp opsstuGSDs, Ga 45 wso 86 %
SIiUcH SrEIUGHS DS
d) S hSIremel sy ar Heossfl oer siwsstumSng Gl 100 % smjusr sremu@Slns

a) 1,240 b) 2 oG &l C) 1,2,3 & d) oG HID Fifl

52. Liquor Ammonia used in
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a) As a fuel in cooking food

b) To make fertilizers

d) As a fuel and as a reducing agent in steel manufacturing

Slpen obCureflun afled UwBURSSITURSUIDE?

a) 2 _owie) FmLEHGWD orflClunapemms

b) 2 giiser swrflitleo

€) temeivig.d seuiemnid, Quiieion”. , prigeSler wHID Clevg Qurer SuMAGSIs

d) 8oy 2_pHuislitle @EH&ED sryefluns

Match List | with List [l

List - | List @ Il
a) Solid in solid - Smoke
b) Solid in gas - alloys
¢) Liquid in liquid - Soda drinks
d) Gas in liquid = Alcohol and water

uligwed 1 g urqweo 2 2 1 6r QurmSHIs oo

uliqgweo - 1 ulique -2

a) Sleosgier e - yows

b) Sl gier ermuy - @rsssc06m6N

c) Slreusgier Slyeud - Gemnm B

d) eumujeleo &letoroid - SLEOBTADINID HBHIHD

A B C D
a) 3 4 2 1
b) 2 1 3 4

54. Sublimation Used to separate

a) lodine crystal vapourises b) Sublimation of dry ice

¢) Solid molecules evaporate d) all of the above
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UBBISIIGED (P cIHeveor Uflés uweTumH S e
a) SICWiNg 66T Ulg HBIGET S, 6Wing 6o b) 2 oof uellssl g @ eflwunseo

) Blsimo> apovisapisdr apeflunsd d) Gupada o

55. To Separate petrol from crude oil which method used
a) Distillation b)IFractionalidistillation c) Chromatography d) none of the
above
séen asnGaomtie @oha Qui Crmeome ONsEsHGS o WD LLGUGSDE

a) e s bpeh b) Sdreramanon ana fdo

c) auasoreooriGlflems (Wemm d) CuhHaemi_ ergiadleocmeo

56. Who is called father of “father of nuclear physics?
a) Ernest'Rutherford b) John Dalton c¢) Niels Bohr d) James Chadwick
Bofier DigIGe @ @Sl 5hs elar SPSHIU[HeF Wi
2) aniana @i CuriG b) g Lot

¢) Boveio Gumy d) Gadeiv #m eflé

57. The Discovery of neutron is very late because ?
a) It is present in Nucleus
b) It is a fundamental particle
¢) It does not move
d) It does not carry any charge
Bur_yresr Blasanhd sMog0wIs HeHEe&sEOUL L & goor?
a) @51 2 L smailed BmhHos
b) 88 2® siumL§ Isar BED
) B b pemafidae

58. In an atomic nucleus , neutrons and protons are held together by

a) Gravitational Forces b) Magnetic Forces c¢) Exchange Forces d)iColumbiciforces

sigmieflesr sowwsSleo Buy puesyb, YEIT L Te)h GETHIL T 66Dl SemeoihS BUUSI
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a) yeu§ity eSlem&wned b) &IhHg 6flemawneo

) wnbgy e d) Bdnafiugs ity aflas

59. Which one of the following statements are correct

a) Only electrons reside inside the nucleus of the atom

¢) Only neutrons reside inside the nucleus of the atom

d) Both neutrons and protons reside inside the nucleus of the atom
Spsscor_eupmier sflwner senm 615

a) oigyeiler 2 I seiled erevé1_gnedr i (HiED @ups @b

C) sigwyjefleor 2 1 sapefled Hluji_ymeor i (HiGw &HéHEGD

d) sigoieiler 2 I speiled Hluy ey, yEm L_ngib & En

60. Rutherford's model of atom is considered unsuitable because
a) A positively charged nucleus remain separated from negatively charged electrons
b) A moving electron should and lose energy continuously.
¢) Nuclear mass is not sufficient heavy to keep the light electron in its orbit
d) The centre of the gravity of the system would be within the volume of the nucleus
i Cumigcr @@y wrSlfl Quimssiblédens @amis sBsUURHDE TR
a) GCpifleGeom L Qardm_ o ' sm afli BleGam Lib Qarsm ereos el iBlapbe
5flCu GBsGD
b) @uésisle o dror cedt grein Gpm g GuiiEDCUIE Sig SEE RDDD® GEEEDE
€) ocwslmemer e Lunemstile Grommeniushe Gurgorer  Hopow e s
QuH Bl apéH 68 o0

d) FFITY e e 2 L sl seneflenen GQuinises &amssEn

61. In a atomic particles carried no electrical charge. Hence, they were called as
a) Neutrons b) Electron c) proton d) None of the above
s giseile BlerCoom L b Geveons FiGIIIs CTRIGII] DM &U[H D

2) Buyomdn b) srooist gmin
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C) yCom"_L_meor d) Cuhser ergia]bleoemneo

Isotopes Refers to

a) Atoms of the same element with different number of neutrons

b) Atoms of the same element with same number of neutrons

¢) Atoms of the same element with different number of proton

d) None of the above

2CerGLIy oreug) oBovEs GDSHDE

2) @5 gD ad@D CupurL UG Lidimallds acmamEeuLD GHSEADE

b) 265 g aenman NCs wisreyrer UG L neoisaflc ersrenflsemsmuyD @HES DS
) @55 gy e Capul L yGrm L rersafler oauailsmayd &HHS D

d) CunHsetr_ ergia|bleoemeo

Match List | with List Il

List - | List - Il
a) Iron-59 - treatment of goiter
b) lodine-131 - treatment of anaemia.
¢) Cobalt-60 - eye treatment
d) Phosphorous-32 - treatment of cancer

uligwes 1 g uligwed 2 2 1 e Qurassis

ul_iqueo - 1 Uiquieo -2

a) Sy 59 - ML A& &emsulleo
b) o1Cwmg.eor 131 - oefiblun §8&emsulleo
C) Gasmuneor 60 - seoor H&l&en&uileo

d) uneupei - 32 - ypgy Cpmi A& &emaudlc
AB C D
a) 34 2 1
b) 21 3 4

gN 2T
d 12 3 4
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64. The long term periodic table consist of
a) 8 horizontal and 7 vertical series
¢) 7 horizontal and 7 vertical series
d) 8 horizontal and 8 vertical series
soflo aflens i 1_cneonlleo [BempIeoT il” 1 66wm6or
a) 8 oL L wogd 7 Qertigss Csm i
C) 7 SleoLwl L wHmb 7 Qekigss Qsm i

d) 8 SleoLwl L vHomib 8 Qeriess Qam i

65. Match List | with List Il

List - | List g Il
a) Modern periodic law - Groups
b) Father of Periodic Table - Moseley
¢) Vertical line in modern periodic table - Periods
d) Horizontal lines in modern periodic table - Mendeleef

ut_iqweo 1 &y ULIq 6o 22 6r Bow o166

a) pefer saflo S L_euemer - Bgbser

b) weuisser o L el shos - CwrenCeo

¢) pofer o1 Louswemileo Qeti@ss aflens = BI6v SI_L 60 60T

d) peferr o1 L_euememiles Heni_wi L eflens - Queson_eSley
AB C D

a 34 2 1

b) 24 1 3

c) 21 4 3

d) 12 3 4

66. Which is not a renewable energy sources

a) Sun Light b) Hydro Power  d) Wind Power d)iFossilifuels

Spsscon_eupmier 615 USIUIUSEH G019 DD PO E60660
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2) ol ss6  b) Bindlen s Q) subp o6 ) epue GHOGIGLE

67. Which of the following does not change when a chemical reaction takes place?
a) volume B)iimass ¢) physical properties d) chemical properties
Geudlefemeoruilesr Gungl wIHOWEDL WIGH 618

a) |6M6) _ c) SunHBlweo uesorL s er d) GCouSlweo uetorys 6T

68. Who introduced the term mole theory in Chemistry ?

a) Jhon Dolton b) Amedo Avagadro  c) A Lawasiyer  d)iWilhelm N Ostwald

Guwred ereorn HlCwrfeow Ceudlwedleo N EUIURSSwoery

a) SDIGOT L_I6DL_GoT b) oGs1_pr b) coumiA wF _

69. Bordeaux mixture is a mixture of
a) Copper sulphate and lime
b) Bleaching powder and DDT
¢) DDT and BHC
d) DDT and Parathion
GuniL_néeld &evemey ereNHEDMD 2_6len &Sl g
a) smoul soGul LHEID Geemby
b) FE0DUGHGHINGT 1DDHMID DDT
¢) DDT and BHC

d) DDT whmid unpSHlumedr

70. Identify the wrong statements
a) Sodium benzoate is used in food preservative.
b) Nitric acid is not used as fertilizer in agriculture.
¢) Sulphuric acid is called the king of chemicals.
d) The PH of acid is greater than 7
Spssdm_ seppisafleli®hbs seuprer dle_mw CainbeswH
a)Gemqwib QuemensL 2 awie] USIURSHIBSI0 LWETURS DS

b) ompl_flé obleob Caremeenuileo g 2 pivns ULGUGHSSTURH IS 60
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C) soolliyflé onbleod CauSliGlunep sefler oirEcr orer SiemPsHEIUGHSDG

71. According to Arrhenius concept , base is a substance which
a) Gives a pairs of proton b) donate protons
c) Accept a lone pair of electrons  d)idonatesihydroxyliions
sifadaiusd Qardremsilenly. HImb ereug
a) Gever YCIM L neisemer Qan@ibsd solq g
b) yGrm' L neweors: Qan@ssses wE

c) ST 6Te0 SIS OIIES), GHMmis 6)&Ierers se.1q W

72. Which acid is used as mild antiseptic and is often used as an eye wash?
a) Boric b) Dardaric ) HCL d) Nitric
oihs sidleod Sl Brfclunsad , s Gniiemwn URSSa D UwWeUHSDS

a) - b) LojL_mflé c) oL Crn@Cormflé d) B _flé

73. Which is the gas emitted from the road vehicles causing pollution ?
a) Nitrogen Oxide b) Ozone
¢) Sulphar Acid d) carbon monoxide
srevosfle Qemmbsaiqu ansomss GeelflGl  embsefle wraUM G&G
& MY GOOTLD GOTE]
a) eopLoger b b) @Gzner

) saouir onblovid d) snudr Goraméamae

74. The nucleus is surrounded by electrons that move around the nucleus with very high
speed in circular paths called
a) Orbit b) electric power c) Nucleus d) Isotopes
o U s@moverd ahil Ble Caiswns codl Ieser &HBlaIBD UTms soIMID IemPsHIUEID

_ b) bleoteny &&5 C) Blysaflweo d) GanGLmien
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75. Consider the following statement and choose the correct option
. The number of electrons in an atom is equal to the number of protons in it .
IIl. The number of protons in an atom is called its atomic number(Z).
Choose the correct code
a) Tonly b)2only g)bothie2 d) none of the above
EpoHsI soppismr QImibg Fflwrer el mw C5ibolsH
l. @I Sigyiefled 2 cer clevsL_preoisailcor crcreoflsome sifled o erer yGpm_i_nesors il cor
oTasoTe| 665 885 @ & &b
Il @i Sigefles srgyh YCrm L teseflen srareflsemsCL @igm oo @)@ b
sfluner GO oL CainelsH b

a)Tw' @b =  b) 2w @b CIbBopn2&H d) Copssm. ameboame

76. Which of the following has no neutrons in the nucleus
a) Deuterium B)Protium c) Helium d) Tritium
Spsscon_eunHiled ereubmblesr 2 1" &pesled Hluy” preirser &neoriu(iH el eoomeo

a) 1q upt” flund b) yGom_1q urb C) o 6Slwibd d) 19.f11"_ 19 WD

77. Consider the following statement related to Newlands Law of Octaves
. Elements were arranged in order of their increasing atomic weights, the eighth
element starting from a given one, possessed properties similar to the first .
Il. It worked well for the lighter elements but failed when applied to heavier

elements.

Choose the Correct code

a) Tonly b)2only g)bothins2 d) none of the above
Hlugeoedong eor ereonoefl$l Qam_junesr GOITYSmET o,umils

I seflomisemer oigm Heopsafldr Uy gpeflost uRssD Curs 8 g saflssSler
usoys @B, 1 gl HeflvsSlen UGTBEDD PSS MEED.

. 88 GoDhHS gy Hloop Cenc saflviisEhshE CUIMHES salgg = ome Hls
Hleon Glasneon_ &eflvnisenssE

sfluner GO so CHIb0OSH &S
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a) 1 v o &f b) 2 o @R & c) 1 vhmd 2 &6 d) 61816 1bl 606 60

78. The third most abundant dissolved ion in the ocean is
a) Beryllium b) Barium ¢) Calcium  d)iMagnesium
sLoo Bifled cpIDINSIH SHE Slere] Goorbglerer Glumiper

a) Quflelw b)) Cuflwp ) sreoflwn ) iBEetALD

79. The formula of bleaching powder is / sevwir Ger_nefler &flwnereEnlulH
a) CaCl2. H20 b) CaOCl2. H20
¢) CaSO4. 2H20 d) CaSO4. &H20
80. Which one is noble gas
a) Nitrogen b) Oxygen c) Chlorine d) Neon
B1pé e con_obmIeT SIHeOT DIbg oumy

a) coploger b) @usefigen ) sCommfler @) iliiiest

81. Which acid was called as aqua tortis' by alchemists?
a) HCL  Bb)INitric c) Sulfuric acid d) Acetic Acid

JEQIIS) SO0 [@E6NT L_MMjlq 610 6T60T Sl H&UU(HID o[dleotb

a) emanl Cyr &Gemmflé b) copL_lé c) &ooluyflé d) o8 19.6 onbleoid

82. Match List - | with |l

List - 1 List - I

a) Brass - copper and Tin
b) Bronze - Copper and Sink
c¢) Solder - steel and nickel
d) Invar - tin and Lead

ut_1gweo 1 oy ULliq 6o 2 2 ot Qumsss

a) 155 6m 6r - QEby LODID G&ID
b) Qesirseon - Qaby wHpD Ak

) Gorsd - S®by vHYD Héser
d) 1516865 (151D Y & & 60 6561 - 550D LOHYID smflwb
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A B C D
a) 1 4 2 3

83. At a constant temperature, when the concentration of a reactant is increased, the

equilibrium constant

a) Increases b) decreases

c) remains unaffected d) first increases the decreases

Bleweowneor Qevtiusflomeoueo CouSlefleomeonGlesr GCung efMeweruf Gunaeflesr  GEdley
15sfHsn60 g6 & eoflemeo
_ b) GODOYD c) DIDIDE @ (158 G 1D d) WSl slaflse Sler &emouyb

84. Which is used for moderator in the homogenous nuclear reactor = ?

a) Heavy water b) rain water  ¢) Sea water . d) well water

®UBUIY ST Gleriu @665 2 cmeoudled safliuncmms Cewmu@ors

a)EEBE b) wow Bi <) s Bi ) aybsimor B

85. Allotrope of Oxygn

a) Ozone b) Carbon ' c) carbon die oxide d) none of the above

S,68g efler yDEaIHHI®L EIIig EID

_ b) SIFUGOT c) SIJUGT DL D},&6m6m(H d) 615162 1] 60 6 60

86. Which used for purification of silver and cold
a) nitrous oxide b) nitric oxide ¢) nitrous oxide + oxygen  d) nitrogen
dioxide
Bpéscon_supgicr Qesdrefl LHDID HhEIBS®S G&SSIURSS ULGURIE og?
2) mpi_rds apbma® b) copifié apbean®

C) oBLgoD psemon =8 6erSlepcdr d) HL_JE6OT ML 2,8 6610 (h
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87. The fixation of nitrogen refers to
a) Liquification of nitrogen
¢) The conversion of nitrogen into amines
d) The solidification of nitrogen gas into the atmosphere
Bl _geer Hleweo Blmissco creorug
a) ®BL_JepedT SlFeNWDIgeo
c) OBL_JQEDGT DIEDIDGT D& DD DI 60

d) cueiflioeBor_cosSled 2 arer 6mBL_JeDemeoT Sl aig 65led IHL)sH 60

88. Which one of the following is a mixture
a) Lime b) Table salt ¢) Sugar d)iseaiwater
S1p &8 60I_cuHMIET 615 560606

a) & GRTGOOTITID L] b) 2 0y c) FIHEHDT _

89. The correct sequence in decreasing order of proportion of the given gases in the
atmosphere is
a) Argon , Carbon di oxide, oxygen
b) Carbon di oxide, oxygen , argon
¢) Oxygen, organ, carbon di oxide
d) Argon, oxygen , carbon di oxide
auaflipeion’_cogSled 2 _6irem aIMsEHemer Sjonefler Bilg Tusml 1Gleo @mikiE aflensuiled e1(pgIs
a) @pimedn, HMUCT DL EEV[H o dberSlgpeor
b) smiuer e spsHmev@ pHaNClgc, i,
Q) apbatigdn ey , s @L Syb@mE

d) DLFHOT  ,DpBHEleedI  , HIFUGHT O 656610 (H

90. Setting of plaster of paris involves

a) Dehydration process b) hydration to form other hydrates c) oxidation

process d) reduction process
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unflev enhgH 2 pSwneusleo 2 erer ukisefliy
a) B Gooss

C) S,&6elmGomhn GlEwcoun()

d) 2bhs6s Gewucmuni

91. Match List 1 with List 2

List - 1 list - 2
a) Antipyretics - lodofrom
b) Antimalerial - pencillin
¢) Antibiotic - lower the temperature
d) Anti septic - chloroquine

d 3 1 2 4
utgwe 1 g Ul we 2 2 Lo @everss

ut lgwed - 1 Ut lgwed - 2

a) GpmisSH@pH ey - wCLnumb

b ) wCeoflur erSliviy - QuebrfleSleir

c) 2 wfl er&litiy Geatu Hlemevd @Geomuy

d) SA(p&H60 TSHIFTIY - &Qemmpmaud) cor

92. The Drugs, Caffeine , Tannnis , Nocotines are

a) Steroids b) mild alkalis  g)JAlKaleids d) none

w@GBEHUGUIEL _semmer , Ca&UemUG, L meieflev , HlaGlasM 1960160 1L Hlwemen

a) oivLe pmil({H & 6T b) SorSlw &IPS e _ d) ggibleo 6m 6o

93. Which of the following is true

a) A mineral cannot be an ore
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¢) All ores cannot be mineral

d) All ores are minerals
Spsacor_cuppier efluneog eg

a) S @I5HG HIDBISG OB SIS 6m6060
C) SODTISH HIGIHEHOHD & 6oilnbIS 6o 60

d) SIOOIS G HIGIHSBOBHD &coflbiser

94. Match List 1 with List 2

List @ 1 list @ 2
a) Nuclear model of Atom - J.J Thomson
b) Empirical model of Atom - Bohr
¢) Ellicptical orbits of electrons in an atom - Rutherford
d) Model of hydrogen atom - Soomerfeld

ul_iqweo -1 & ulllgwed 2 21 6r Joalur:¥:

uliqweo -1 ul_iqweo & 2
a) sigyiefler 2 _arerem oty wrslifl - Goy. Gey smbEGT
b) Sigyefleor sisoyuey ISl - Gumy

c) 6T60851_JIIGOTS 6T DG 6 6

Bérour’ L_UunensS60 &M 6 [ & 6o 81 - s GuIIE

d) oant rger sigicsler v - @wiGlucor
A B C D

a) 1 4 2 3

b) 3 4 2 1

<) 2 4 3 1

95. Which one of the following is an explosive?

a) Benzene hexahloride b) Trinitro toluene

¢) Tetraethy lead d) polyvinyl chloride
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Slipsscon_cupmier oyl Glaig &G &6 DL WS
a) Quesr&esr Glam &ernnblsrGermen i b) 19 fledor”_Gpm 1_eSlujeor

c) Qs Gleor_ d) uneSleflemeotev @& Gemmem y(H)

96. Match List 1 with List 2

List - 1 list - 2
a) Ammonia - Linear
b) Water - Planar
¢) Boron trifluoride - V shaped
d) Carbon di Oxide - Pyramid

uligwed @ 1 g uliqwer 2 g Qurwsss

a) SIbGwreflwr - CriCanH
b) & GOOTG00L I - &FGOID
c) Gunyesr eoy UGlemeny(h - &fl euig.6uId
d) snjucr L ssmen@ - QrblE

A B C D

a 1. 4 2 .3
) 3 4 2 1
<) 2 4 3 1

97. Petroliam Mainly Contains

a) Aliphatic Hydrocarbons b) Aromatic Hydrocarbon

c) Aliphatic Alcohols d) none
QuL_CoreSlwib e1gemeord ©l&nesorg (156 S D &

2) SiofGuC 116 ewomr Gom sriucr B IBIEHOB BB ED TGS

C) SISluL 196 ,60HMDI6D d) ggIbleo 660

98. In the Periodic table , the elements present in the groups from 3 to 12 are known as

a) S—Block b)P-Block ¢) d - Block d) F - block

sefln auflems o L_eiememile 3 s 12 aiemy 2_drer GWQSHOT GTeIIDI &[mg(ﬁcﬁi}u@tﬂgpgﬂ?

33 IYACHAMY ACADEMY — CHENNAI -TIRUNELVELI-TENKASI-WWW.IYACHAMY.COM




IYACHAMY ACADEMY
?) (Associated with www.iyachamy.com)
Istitution For Competitive Exam)

a).S-Block  b) P - Block ¢) d - Block d) F - block

99. Find the odd one out

a) PVC b) Nylon g)iTerrglene c) DDT
Spsaco_ geble QUIMBHSTS G

a) GleN & b) 65 60 1G0T _ d) DDT

100. A Chemical used in Photography is

a) Sodium sulphate b) Sodium Phasphate c) Sodium thiosulphate  d) none

yem&sUUL_SSledo vweTuRSESUHD CerHlublunaser

a) Cemqwid seoCur b) Gemqwib umepGur_ _ d) ggidleocmeo

Percentage

101.Price of sugar having been .increased by 30% due to this a house wife reduced

consumption of sugar by 30%. Then the effect of this on her expenditure on sugar is

A. 3% decreases B. 9% increases
C. 9% decreases D. 3% increases
&1768 60 yull coresil 60 60 30% 2_ WIS N6 5@ HIDUS S 6606215 60165 6 audl6d 30%

©&®DSHINHEDTiererilcd, &iéHemrsens s o0 {Hib6snemsuileghu@beslensralerereor?

A. 3% soomey B. 9% = wjey

D. 3% = wijey

102. If the length of a rectangle Is increased by 10% and its breadth is decreased by 10%

then its area?

B. Increases by 1%

C. Decreases by 2% D. Remain unchanged

easaasssoend 10% 2 wissoul R, isasiBon 10% GoDassTUL QDEGHSTD,
cglg,oim_m&uara[srdsraﬁ?

A 1% @opuis B. 1% = wai

C. 2% ®oonub D. wmhmibléosmen
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103. If A Salary is 25% more than B’s then how much percent is B's salary less than A’'s?

A. 20% B. 30%
C. 25% D. 33 1/3%
Aciren 6D, B 60162 (15 LDITGBTE 60 & 651 L 25% s15lsbereofleo, B- cbreu 5 1o meomd,

A 6516 (15 1D 1601 600 8 691 161658 6 60188 6515 1D @ 6D &1 7
A. 20% B. 30%
C. 25% D.331/3%

104. The single discount equal to three consecutive discounts of 20%, 10% and 5% is
A. 32.8% B. 33.3% C. 31.6% D. 30.2%

31555 (H 55 e GOIL) & 6l (615 LY. &5 6T 60T 20%, 10% wH oD 5%

21,516 63 8 (61 & & & 1 60Tep G115 6T (61 ULy 6T60T60T 2

A. 32.8% B. 33.3% C. 31.6% D. 30.2%

105. 20% of the total quantity of oil is 40 litres. Find the total quantity of oil in litres.
@6 &s16ars5605Slc02_oirer 20% 1, 60T8] 40 65\1"1_oTesor(o) 6somi1 2, @ 1b.

51850 & 16118 608 &) 6o 2 _cirerreretor(ol coorull 601 (D 16 & 1 616 621 & & 16001 «

A. 100 &8 B. 300 o8
C. 200 D. 400 o8

106. If the radius of a circle is increased by 50% its are is increased by
A. 120 % B. 125 % C. 150 % D. 130 %

ol LgSlerapmd 50% 2 wissiul Lneoeiseouiusneiloe wissiul L &seisb

A. 120 % B. 125 % C.150 % D. 130 %

107. On selling an article for Rs. 5000, a man loses 20%. What will be the selling Price.
It desired profit is 20%
A. Rs.6825 B. Rs.7225 C. Rs.6875 D. Rs.6800

oaCurage»erp.5000- 5@ MHusrodn e s 20% BL L DSl &S maI. 20%

G oonuib &Hlem &G e stor () 6l eofl 6o HTITE U 60 66 ) 85 G 621 6oL W 6K 68> 60 STCOTCOT

A. .6825 B. en.7225 C. e.6875 D. e.6800
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108. By selling 13 articles, a shop keeper gains which equals to the selling price of 3
articles. His gain percent is ..
A. 20 % B. 30 % C.40 % D. 25 %

13 QuugpL_asomerefilhHugmeo e eSlwmumfl 3

QunL_seiflcorefilhH m 6l v 60 6 @ W IETEOMUD FFL_(H S prjeresiled, oieufle@eonusaseisbeoreoreor?

A. 20 % B. 30 % C.40 % D. 25 %

109. If the cost price of 15 apples is equal to selling price of 20 apples. Find profit / Loss

percent.
A. 25 % loss B. 20% loss
C. 25% gain D. 28% loss
15 <, Ullers aifl oo L_8 & 65l 6 60 20 <=, eirss aifl o165 D 0 651 69 60 &5 (& F O D BTGB 6D,

oonu /b1 L& 565 51D 6TeOT6or ?
A 25 % b B. 20% mr L

C. 25% oomuid D. 28% mir.ib

110.A man saves Rs. 3,000 per month from his total salary of Rs. 20,000. The Percentage of
his savings is
wrgeipwrembes.20,000
Quubbuiemafeatlanapwnswibep.3,000mEeBliy6 &Sl e riereflco,
Sl WibnsECFBIIysseisn ?

A. 15% B. 5%
C. 10% D. 20%

111. In 2013, the population of a town is 1,25,000. If it is increased by 7% in the next year,
find the population 2014.
A. 8750 B. 1,33,750 C. 1,16,250 D. 1,25,000

2013-gov, pmBEISSltwsscGsTIma 1,25,000 91058 00me o1 7% Quap@wreme 2014
B 010658611601 51160) 6 6 1L 65 85 M GTOT 85«

A. 8750 B. 1,33,750 C. 1,16,250 D. 1,25,000
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112. By selling an article for Rs.480, a person last 20%. For what amount should he sell it
to make a profit of 20%?
A. Rs.800 B. Rs.760 C. Rs.720 D. Rs. 680

emaieamGurmpaiomar  480amunis@ahumatsisio, umsGIpuhvbeasL b 20%
SIIIHE G 20% SoonubSlenr_&asG e aor(pHlbercimmeo,
21 SUE U 6fl 60 OIS AT 618 & 60 GoTeIH UM (8 651D & @ e 6B (R 1D ?

A. 5.800 B. e5.760 C. 5.720 D. ep. 680

113.Ram bought 36 mangoes. 5 mangoes were rotten. What is the percentage of the mangoes
that were rotten?
JIID U MBS 36 WIbUIpEISHifled, 5 IDMDUIPEIS 6Ti (1Sl 6flL_L_eorereoflco,

SRS MbUPEI&6fl 65185 655 560 8 6 & 1600165,

A. 12.84% B. 13.24%
C. 13.89% D. 11.12%

114.A number is increased by 10% and then decreased by 10%. Find the net decrease percent.
A. 0% B. 1% C. 2% D. 3%

ewmocuafiensliyrsr 10% sl L Cousm@b. 105566 b oihs sreoremt oo S8 eSl b b
10% ®oonssrosleml_&EbhHlsrE o nalssaissomsssapil.
A. 0% B. 1% C. 2% D. 3%

115. A bicycle marked at Rs.1500-is sold for Rs.1350. what is the percentage of discount?
A. 12 B. 15 cn D. 10

@ blSlacng tldeilomeem. 1500  ammi@Mssiur_porerg.  Goomern.1350  s@efihore,
BHOTEBULg &8 655 1oTeoreor ?
A. 12 B. 15 cn D. 10

116.By selling an article for Rs.480, a person lost 20% for what amount should he sell it to
make a profit of 20%?
A. Rs.800 B. Rs.760 C. Rs.720 D. Rs.680
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ewaieamGurmpaiomar 480  amumis@alhumaGsisio, umsGIDuUhbbesL D 20%
SIIIHE G 20% SeonubSlenr_&a&G e ao(pHlbercmmeo,
21 SUE U 6fl 60 OIS AT 618 & 60 SoTeIH UM &S 8y 65D & @ e 6GoT (B D ?

A. 5.800 B. e5.760 C. 5.720 D. ¢5.680

117.1f a number multiplied by 20% of itself gives a number which is 100% more than the
number, then the number is .......
A. 12 B. 10 C.14 D. 18

@wmocumaisiger 20% 2 L e1blummdslemeSlenL & @b sretora,corgloih sersorenameil 100%
18l &118 eretorenilh @& & &b ercotled, 163G e esor

A. 12 B. 10 C.14 D. 18

118.The Present of 20 minutes to 1 hour is
A.331/3 B. 33
C. 33 2/3 D. None of the above

ewmwafluied 20 Rl kiseflcreseisn
A 331/3 B. 33
C. 33 2/3 D. geveueigiobGeocneo

119.In a class of 35 students, 7 students were absent on a particular day. What is the
Percentage of the student's were absent?
@ GHITEIL_Lprefleo, 35 IDITGU0TEM &5 6iT2_ 6iT6ITeR (1H 6 & U115l 60 7

LD TGU0TON &6 6IT6) (I 600 & & T617] 60 67 60616011 60, 621 (I 600 & & I & L TGUOT 6 65 61 6016 8 655 & &5 600 & &5 85 6001 5.«

A. 30% B. 20%
C. 10% D. 50%

120. If 70% of the cost price of an article is equal to 50% of its selling price. Then the
percentage of profit or loss on the cost price is
A. 30% loss B. 40% profit
C. 16 2/3% profit D. 20% profit

aRurmalasiL sl  70%  sisaeppaflmeniar 50%  s@iswbereile,
SIBTSIL_b5aflenmuleahuRDEOIDSIOOEBL L ss5fsh

A. 30% pr b B. 40% oonmu

C. 16 2/3% oomud D. 20% ecomuib
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121.In a class of 50, 23 were girls and the rest were boys. What is the percentage of girls?
50 Cuillseion_ga e @itle, 23 Guiremred &er, 10D [ 6)1j& 6D 60016 [ & 6T6T 6ol 60,

o reoorelil & offl 6516 & 657 8 Ih1 8 60 61185 & TGBOT &«

A. 52% B. 46%
C. 48% D. 62%

122.The Price of a scooter was Rs. 34,000 last year. It has increased by 25% this year. Then
the increase in Price is?
Q& 6b1D =, 6601 (h) 6o (1 60 s L_L_fl stresil smov . 34,000. B8 1, 6501(5) £ 5 16Kl 689 60 25%

o[BS SIS, D[l 60065 Tem 8 6TeoT6oT?

A. Rs.6,500 B. Rs.8,500
C. Rs. 8,000 D. Rs.7,000

123. A fruit seller buys x apples for Rs. Y and Sells Y apples for Rs. x. If x > y then he

made.
A. x>-y?2 / xy % loss B. x?-y? / xy % gain
C. x?-y2 / y?> % loss D. x2-y? / y? % gain

. Y s@eomelumunf X sudsasmarammbsl, Y sudlemeneres. Xé @ e hprjerefleo (X >y

6ra'n&3) TGSl 61L& @b 7
A x%2-y? / xy % prLb B. x2-y2 / xy % eonuw

C.x%-y?/ y?* % b Lid D. x2-y? / y? % conud

124. An alloy consists of 30% copper and 40% zinc and the remaining is nickel. Find the
amount of nickel in 20 Kilograms of the alloy.
w2 Corsssmmantleo 30%  smirwn, 40% smssprsd, BHHEsce derg. 208.8.

2_crer@hH2_Gooms & 006m 6uull 6ol é &6 coroioraung) ?

A. 10 Kgs B. 6 Kgs
C. 8 Kgs D. 12 Kgs
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125. The difference between a discount of 40% on Rs.500 and two successive discounts

of 36% and 4% on the same amount is ©ss.

A. Rs.0 B. Rs.2

C. Rs.1.93 D. Rs.7.20

5.500-60 40% serenUg HGD, QSM_jsoreEnulgsemer 36% wHmbd 4% &@be_drereilsSunsnd
A. 5.0 B. e5.2

C. 5.1.93 D. e5.7.20
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